DL = 3.49 kN/m? 2 OO
600 +_

Vu =80.77 mm ¢

Vi =119.23 mm mm thick slab
Vou=0.088 m*m* e T T T 50 150mm x 58mm Ribs

| =269.609 x 10° mm* B oD ‘0 150 S150 Blocks (445mm wide)

F =27.90 kN/m
M |WIRES| SPAN| 3000 | 3500 | 4000 | 4500 | 5000 | 5500 | 6000 | 6500 | 7000 | 7500 | 8000 | 8500 | 9000 | 9500 | 10000
12.10 4 727 | 441 ] 256 | 1.29 | 0.38 '

S __ SN

1512 | 5 445 | 638 | 4.07 | 248 | 135 | 051
1814 |6 12.63 | 836 | 558 | 3.68 | 231 | 131 | 054 /
2117 | 7 1511 | 1034 | 7.10 | 487 | 328 | 241 | 121 | 052 /
2419 |_8 1231 | 861 | 607 | 425 | 291 | 189 | 1.09 | 046 J
2722 9 12.45 | 1012 | 7.26 | 522 | 3.71 | 256 | 166 | 0.95 | 0.38 f
3024 | 10 10.46 | 846 | 619 | 451 | 323 | 2.24 | 445 | 0.81 | 0.29 |
3326 | 11 891 | 715 | 531 | 3.90 | 281 | 1.94 | 1.24 | 0.67 # 0.02
3629 | 12 767 | 611 | 457 | 338 | 243 ) 1.61 | 0.72 |

D. = 3.76 kN/m?

Vu =93.53 mm + 750 ¢
VL =106.47 mm
VoL= 0099 m¥m?  SLITTTTTTTTTIIo o oo oo mmemmmmmoooooo 50

| =443.041x 10° mm* i\ - 1T . -/i 150

F =44.34KkN/m

M WIRES| SPAN | 3000 | 3500 | 4000 | 4500 | 5000 | 5500 | 6000 | 6500 | 7000 | 7500 | 8000 | 8500 | 9000 | 9500 | 10000
19.23 8 13.33 | 8.80 5.86 3.84 2.39 1.33 0.51
24.03 10 1760 | 11.93 | 8.26 5.73 3.93 2.60 1.58 0.79 0.16
28.84 12 21.88 | 15.07 | 10.66 | 7.63 5.47 3.87 2.65 1.70 0.95 0.34
33.64 14 25.80 | 18.21 | 13.06 | 9.53 7.00 5.14 3.72 2.61 1.73 1.02 0.45
38.45 16 2135 1547 | 11.43 | 8.54 6.41 4.78 3.52 2.52 1.71 1.05 0.50 0.04
4326 | 18 2158 | 17.87 | 1333 | 10.08 | 7.68 | 585 | 4.43 | 330 [ 2. 1.65 [ 1.03 | 0.51 | 0.07
48.06 20 18.41 | 15.23 | 11.62 | 8.95 6.92 5.34 4.09 3.08 2.25 1.56 0.99 0.37
5287 | 22 15.95 | 13.16 | 1022 | 7.99 | 6.25 | 4.87 | 3.76 | 2.85 2.00 | 1.09
57.68 | 24 13.98 ! 11.49 | 9.06 | 7.16 | 566 | 4.44 | 3.15 |
D. = Slab Mass Superimposed load in bold print limited by shear.
Vou =Volume in-situ concrete Superimposed load below
F  =Shear Force 1. Broken line exceeds deflection span/350 in blue
M = Moment of Resistance KNm/m 2. Track line limited to deflection span/250 in orange

Wires= No. of 4.25 &.(Uts = 24kN) 3. Solid line indicates deflection greater than 20mm.



